GENERAL NOTES:
1. ALL FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS. SPECIFIED
ANCHOR EMBED TO BASE MATERIAL SHALL BE BEYOND WALL FINISH OR STUCCO.
2. OPENINGS, BUCKING & BUCKING FASTENERS MUST BE PROPERLY DESIGNED &
INSTALLED TO TRANSFER WIND LOADS TO THE STRUCTURE.
3. THESE NON-IMPACT RATED WINDOW SYSTEM INSTALLATIONS ARE IN ACCORDANCE
WITH AND MEET THE REQUIREMENTS OF THE FLORIDA BUILDING CODE (FBC).
4. ALL ANCHORS SECURING WINDOW FRAME TO PRESSURE TREATED BUCKS OR WOOD
FRAMING SHALL BE CAPABLE OF RESISTING CORROSION CAUSED BY THE PRESSURE
TREATING CHEMICALS IN THE WOOD.
5. MATERIALS, INCLUDING BUT NOT LIMITED TO STEEL SCREWS, THAT COME INTO
CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL MEET THE REQUIREMENTS OF
FLORIDA BUILDING CODE CHAPTER 20.
6. TO THE BEST OF OUR KNOWLEDGE, THE WINDOWS SHOWN HEREIN ARE CERTIFIED
& QUALITY ASSURED BY A FLORIDA STATE APPROVED CERTIFICATION/QA ENTITY &
SHALL BE LABELED IN ACCORDANCE WITH THE FBC AND THE 9N-3 FLORIDA BUILDING
COMMISSION SPECIFICATIONS. WINDOW ASSEMBLY IS NOT PART OF THIS DRAWING AND
SHALL BE IN ACCORDANCE WITH THE MANUFACTURER'S QUALITY ASSURANCE
SPECIFICATIONS & TESTING REPORTS.

7. CERTIFICATION OF THESE WINDOW INSTALLATIONS SHALL BE CONSIDERED VOID IF
ANY OF THE FOLLOWING APPLY: 1) THEY ARE INSTALLED WITHOUT A BUILDING PERMIT
FROM THE APPLICABLE LOCAL BUILDING DEPARTMENT. 2) IF THEY ARE INSTALLED BY
ANYONE OTHER THAN A LICENSED CONTRACTOR EXPERIENCED WITH WINDOW
INSTALLATIONS.  3) IF CHANGES HAVE OCCURRED TO THE PRODUCT'S CERTIFICATION
ENTITY'S CERTIFICATE THAT CAUSE THESE INSTALLATIONS TO BE INCORRECT OR
INCONSISTENT WITH WHAT HAS BEEN TESTED.

8. THE LEAST DESIGN PRESSURE SPECIFIED EITHER IN THIS DRAWING OR IN THE
PRODUCTS CERTIFICATION SHALL CONTROL FOR THE INSTALLED WINDOW.

9. THESE DRAWINGS CERTIFY THE WINDOW INSTALLATION ONLY. WATER PROOFING OF
THE INSTALLED WINDOWS IS NOT PART OF THIS INSTALLATION CERTIFICATION. THAT
RESPONSIBILITY SHALL BE THAT OF THE MANUFACTURER &/OR INSTALLER.

ICHOR /SUBSTRATI
ALL ALTERNATE ANCHORS IN THEIR SPECIFIED

LUATIO| H

SUBSTRATES HAVE BEEN ANALYZED IN ACCORDANCE
WITH THEIR APPLICABLE STANDARD(S) AND ARE FOUND
TO BE EQUIVALENT TO OR STRONGER THAN THE
ANCHOR(S) USED IN TESTING WITH THIS PRODUCT.

CODE AND APPLICABLE STANDARDS.

INSTALLATION EVALUATION IS BASED ON APPLICABLE ANCHOR STANDARDS AND/OR
INFORMATION & RESULTS FROM APPLICABLE TEST REPORTS. THE FLORIDA BUILDING
CODE VERSION CONSIDERED WITH THE EVALUATION WAS THAT IN FORCE AT THE TIME
OF THE EVALUATION. IN THE EVENT OF CODE VERSION CHANGES/UPDATES OR IN
THE EVENT THAT NEW OR ADDITIONAL TESTING IS COMPLETED ON THE REFERENCED
PRODUCT, PRIOR TO STATING CODE COMPLIANCE WITH THE STATE, THE MANUFACTURER
SHALL CONFIRM WITH THE INSTALLATION EVALUATION ENGINEER OF RECORD THAT THE
INSTALLATIONS SPECIFIED HERE—IN ARE CURRENT WITH THE THEN CURRENT TESTING,

FRAME ANCHOR REQUIREMENTS TABLE

OPENING TYPE FRAME,/CLIP/BRICKMOLD TO MINIMUM | MINIMUM
(SUBSTRATE) OPENING FASTENER TYPE EMBED |EDGE DIST.
BRICKMOLD FASTENERS
MIN. 2X4 WOOD FRAME OR BUCK ) N
(MN. GR. 3 & G=0.55) NO. 6 SMS OR WOOD SCREW | 1 3/8 1/2
MIN. 2X4 WOOD FRAME OR BUCK ) N
(MN. GR. 3 & 6=0.55) 10D GALV. FINISH NAILS 13/8 1/2
INSTALLATION CLIP SCREWS
MIN. 2X4 WOOD FRAME OR BUCK . N N
(MIN. GR. 3 & G=055) NO. 8 X 1 1/2" SMS 13/8 1/2
FRAME SCREWS

MIN. 2X4 WOOD FRAME OR BUCK RE

NO. 8 SMS OR WOOD SCREW | 1 1/4 3/4

(MIN. GR. 3 & G=0.55)

FOR MAX. FRAME HEIGHT, SEE
"ALLOWABLE SIZE/PRESSURE TABLE"
ON THIS SHEET

FOR MAX.
FRAME WIDTH, SEE
"ALLOWABLE SIZE/ —|
PRESSURE TABLE”
ON THIS SHEET

[THESE DRAWINGS ARE™ APPLICABLE ONLY TO THE PRODUCT]
[SPECIFIED. THEY MAY NOT BE USED FOR THE ASSEMBLY

IAND/OR INSTALLATION OF ANY OTHER PRODUCT NOR MAY |[FT

[STATED ON THESE DRAWINGS.

6" MAX. ———‘ @ ’—v— 6" MAX.

- V- N

=

o
|=3
{23
A

VA

P
S o v R S v/
AN

/—BRICKMOLD

BRICKMOLD FASTENER WITHIN
4" OF CORNERS & 8"-10"
MAX. 0.C. SEE "FRAME
ANCHOR REQUIREMENTS TABLE”
ON THIS SHEET FOR
REQUIREMENTS.

q
N

SIMILAR

N I

— — —

. Y A N D Y A

YA

FRAME SCREWS OR
INSTALLATION CLIPS WHERE
SHOWN. SEE "FRAME ANCHOR
REQUIREMENTS TABLE” ON
THIS SHEET FOR SCREW
REQUIREMENTS (CLIPS ARE
NOT APPLICABLE AT SILL).

EXTERIOR ELEVATION;
SINGLE WINDOW
SCALE: 3/4"=1'-0"

ALLOWABLE WINDOW
SIZE/PRESSURE TABLE

MAX. WINDOW MAX. WINDOW | ALLOWABLE

FRAME HEIGHT | FRAME WIDTH | PRESSURE
(IN.) (IN.) (+/- PSF)
28 78 40.0
36 72 50.0

PRESSURE SHOWN IN THIS TABLE IS FOR

INSTALLATION CONDITIONS ONLY. THE

GOVERNING DESIGN PRESSURE ON THE

WINDOWS SHALL BE THE LESSER OF
THAT SHOWN IN THE INDIVIDUAL
WINDOW'S STATE APPROVAL OR THAT
SHOWN IN THIS TABLE.

[THEY BE USED FOR RATIONAL AND/OR LOCAL APPROVAL

OF ANY PRODUCT NOT PRODUCED BY THE MANUFACTURER

DATE
07/08/08
06/18/12

WRM

REVISION DESCRIPTION

A1 |UPDATE TO PRESENT STANDARDS
B1 |UPDATE TO PRESENT STANDARDS

NO.

=
[+
2
=l 2 8
o o~
| OL—JO
z Quw
[} Y _ o
= SE=Lwo
5=
7] 0w no
< =T |
(&} OF=Z0m
~ | 229%
ol £ =1
< B nQ
e | e 08
= [e3=d=)
2| gs
| B0
ZZ 2
z = =
=
w Jo
L
x Iz
o |3
w =
)
2| g8
x| 2
Z| 2© o
Z| H< 2
&1 287,
ol 2. %
=z | g<zZ=0
] o x23
o x 34~
hry] S s 821
3 o %5
LZ £33
| E£5 28y
2 |22 oB2
Zn0 BoF
= 'Z¥s
5.8%3
2Z0 &
Z .
5 e

182012
EN W. SCHAEFER, P.E.
P.E. NO. 44135

DRAWING NO. [REV.
1296 | B

=

SHEET NO.
OF

2




BRICKMOLD FASTENER 1/4” MAX. SHIM FRAME WIDTH ——— SUBSTRATE BY OTHERS INSTALLATION CLIP SCREWS PER
PER ELEVATION FRAME SCREW PER AT EACH ANCHOR PER "FRAME ANCHOR "FRAME ANCHOR REQUIREMENTS
SEALANT BY OTHERS FRAME SC SUBSTRATE BY OTHERS SEALANT BY OTHERS REQUIREMENTS TABLE TABLE” (2 TOTAL; 1 PER SIDE) |
BEHIND BRICKMOLD PER "FRAME ANCHOR L BEHIND BRICKMOLD X ; g
' L - SUBSTRATE BY OTHERS REQUIREMENTS TABLE" yaloTMING 1 1/2" X6 1/27 X 18 |13
- PER “ERAVE ANCHOR T | FRAME S8 _ N A S GA GALVANIZED METAL N
» : INSTALLATION CLIP (MIN. 33 ksi ||&
REQUIREMENTS TABLE" oo SEALANT BY INSTALLATION CLP
7/ E RESS) PER ELEVATION.
SEALANT BY SCREW PER g OTHERS " .
OTHERS > 1/2" MAX. SHIM ELEVATION BRICKMOLD r1/2 EXé)nj‘ CNL%T TO 8
C 3 AT EACH ANCHOR T} 4 FASTENER PER £
& 58 2_\ ELEVATION g
. . — = a
BRCkUOL—" | — z BRICKMOLD s R 51 f 5
/ % PER < ol E / \q\ g
. ELEVATION B = 16 GA. X 2 1/2" AU - ,
éi\LSA'BéAS Mi _—I [ GALY. BRAD NALL -1 '___gn \ \" FRAME JAMB g
; - AT 8” 0.C.
AT 8" 0.C. SEALANT BY/ \\ EXTERIOR >
OTHERS L J . .
16 GA. X 2 1/2 NO. 8 X 5/8" SCREWS 8
FRAME JAMB SETSESOLD GALV. BRAD NAIL EXTERIOR (2 PER CLIP) zl 2 8
I - AT 87 O.C. : =1 8.8
2 SRICKOLD OPTIONAL INSTAL 2| wE=s
g=
o SEALANT BY OTHERS ALLATION CLIP DETAIL 1 2| oP 5
w (HEAD SECTION SHOWN, SIDES ARE INSTALLED THE SAME) ol x4
o 2 SECTION /B (NOT APPLICABLE AT SILL) S| 2284
i SCALE: 1/2 FULL \ 2/ 5] Ssod
fns
TN (FRAME SCREW CONDITION SHOWN. FOR INSTALLATION Xl Soru®
EXTERIOR r] CUPS, SEE CLIP DETALS ON THIS SHEET.) z| g5,
1 Z W
=z =z =
3] | 25
FRAME JAMB ] w e
T SUBSTRATE BY OTHERS INSTALLATION CLIP SCREWS PER zE
3 PER "FRAME ANCHOR FRAME ANCHOR REQUIREMENTS o g
BRICKMOLD 2 SEALANT BY OTHERS REQUIREMENTS TABLE” TABLE” (2 TOTAL; 1 PER SIDE) u =
g \ BEHIND BRICKMOLD ) ) 2 2@
SEALANT BY x CONTINUOUS. P.T. : MIN. 1 1/2” X 6 1/2" X 18 GA. Z| B® o
OTHERS 3 OR PVC BLOCKING ¥ - GALVANIZED METAL INSTALLATION CLIP (MIN. | 4S8
5 SEALANT BY: 33 ksi YIELD STRESS) PER ELEVATIONS. N R
3 N R — = Z g ZEm
§ FRAME SCREW PER OTHERS 1/2" MAX. SHIM ) IR
ELEVATION . BRICKMOLD NEXT TO EACH CLIP ol ™38
: FASTENER PER I - | Bg =55
ELEVATION N\ 25 Bzg
=T I -2z
sussTe &Y ONEES— SECrioN srion—"+ VT A E
REQUIREMENTS TABLE” ~ SCALE: 1/2 FULL \2./ , / ¢ =82
(FRAME SCREW CONDITION SHOWN AT HEAD. FOR 18 GA. X 2 1/2 S5 Ié Bz
INSTALLATION CLIPS, SEE CLIP DETALS ON THIS SHEET.) %‘L‘é-,, BORQD NAIL j;%n \\ FRAME. JAMB e
NO. 8 X 5/8" SCREWS
EXTERIOR (2 PER CUP)
OPTIONAL INSTALLATION CLIP DETAIL 2
(HEAD SECTION SHOWN, SIDES ARE INSTALLED THE SAME)
(NOT APPLICABLE AT SILL)
SHEET NoO.
oF 2




